Midterm Review
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2. Multiply -3(-12)
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3. Divide —33 = —11
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4. Divide



5. Solve the equation —4x -I/= 23

v
“#X:H_Q_
vt

(<-4



6. Solve and graph the inequality

3x +/7 > 12
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Use the Distributive Property

7. =3(x + 7) 8. —(h + x — 2)

—3y - 2] —~ - X+



Factor by GCF

9. 10x+20 10. 15x-45
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11. What is the slope o

e linear equation?
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12. What is the y-intercept of the linear equation?
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13. Which point lines on the line?
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14. What is the slope of the line that passes
through the points (4,7) and (-1,5)
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15. Which of the following is NOT a function?

d. Z - C. L
5 4 | e
] { ;g e
b. {(1,3),(4,7),(5,3),(—1,8)} @ )
N
(KD

aF oh e B3 BA




Solve and graph each inequality.

16. 3+x =12 17. 21 < -2x+5




18. Solve the equation.
44+3(x—4)=7x—12
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19. Solve the equation

3x + 19 = —(x + 3)
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20. Order each step to solving the equation
—10x+2—-(5x+7) =25

1. x = -2 “’DX42—6X~7-:0?6

2. —15x—-5=25 ._,\6%_6 = DA

3. —15x =30 A5 S
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